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(Entrance Examination for Admission to the P.G. Courses in the Teaching\
Departments, 2020

CSS
COMMUNICATION AND JOURNALISM

General Instructions

1. The Question Paper is having two Parts — Part ‘A’ Objective type (60%) & Part ‘B’
Descriptive type (40%).

2. Objective type questions which carry 1 mark each are to be (v) ‘tick marked’ in the
response sheets against the appropriate answers provided.

3. 8 questions are to be answered out of 12 questions carrying 5 marks each in Part ‘B’.
Negative marking : 0.25 marks will be deducted for each wrong answer
in Part ‘A’.

Time : 2 Hours Max. Marks : 100

To be filled in by the Candidate

Register | in Figures
Number

in words

PART — A
(Objective Type)

Choose appropriate answer from the options in the questions. One mark each.
(60 x 1 = 60 marks)

1. Entomology is the science that studies?

a) Behaviour of human being

b) Insects

c) The origin and history of technical and scientific terms
d) The formation of Rocks



2.  Film and TV institute of India is located at
a) Pune (Maharastra) b) Rajkot (Gujarat)

c) Pimpri (Maharastra) d) Perambur (Tamilnadu)

3. Durand Cup is associated with the game of
a) Cricket b) Football
c) Hockey d) Volleyball
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Joule is the unit of
a) Temperature b) Pressure

c) Energy d) Heat

Ottamthullal is poetic performance dance is from
a) Kerala b) Karnataka

c) Orissa d) None of the above

Who is called as Punjab Kesari?
a) Balagangadar Tilak

b) Lala Lajpat Rai

c) Gandhiji

d) Nehruiji

Modern Indo-Aryan languages are based on an ancient language called?
a) Hindi b) Sanskrit

c) Kannada d) Tamil

Which organ malfunction is a cause for Jaundice disease?
a) Heart b) Pancreas

c) Liver d) Kidney

What is MODVAT?

a) Modified Value Added Tax — is a scheme of indirect taxes

b) Related to the excise duty and manufacturers of excisable goods

c) Taxes paid when purchase are made on a specific good, such as gasoline

d) All of the above
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10.

11.

12.

13.

14.

15.

MISA stands for
a) Maintenance of International Security Act

b) Maintenance of Internal Security Act
c) Multinational Internal Society Authority

d) Movement for Indian System Act

Who has been named Time Person of the Year 20197
a) Donald Trump b) Malala Yousafzai

c) Greta Thunberg d) Viadimir Putin

Which organ in the human body regulates the sugar content in the blood?
a) Pancreas b) Liver
c) Heart d) Gall Bladder

What is the main function of District Administration?
a) Policy making

b) Decision making

c) To implement the policy of State Govt.

d) To instruct the subordinates

The need for giving constitutional sanction to village panchayats was first felt by?
a) Balwantrai Mehta Committee b) Ashok Mehta Committee
c) G.V.K. Rao Committee d) L.M. Singhavi Committee

At 20 degree C, the speed of sound in water is approximately?
a) 330m/s b) 800 m/s
c) 1500 m/s d) 5000 m/s
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16.

17.

18.

19.

20.

21.

Logical reasoning ability

True or False :

Gettysburg Address is a book published in 1863 which is written by George
Washington

a) True b) False

The Wealth of Nations is the magnum opus of the Scottish economist and moral
philosopher Adam Smith.

a) True b) False

The Rajyasabha MPs are elected by the elected members of the state legislative
assemblies.

a) True b) False

Bicycle thieve is a film under the Italian neo realistic movement is directed by
Luigi Bartolini.

a) True b) False

The three classical branches of art are Music, Theatre, Film and Dance.
a) True b) False

(A) : The initial messages to students in the classroom by a teacher need not be
critical to establish interactions later.

(R) : More control over the communication process means more control over
what the students are learning.

a) Both (A) and (R) are true, and (R) is the correct explanation of (A)

b) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

c) (A)istrue, but (R) is false

d) (A)isfalse, but (R) is true
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22. (A) : To communicate well in the classroom is a natural ability.

(R) : Effective teaching in the classroom demands knowledge of the
communication process.

a) (A)istrue, but (R) is false

b) (A) is false, but (R) is true

c) Both (A) and (R) are true, and (R) is the correct explanation of (A)

d) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

23. (A) : All teaching implies learning.
(R) : Learning to be useful must be derived from teaching

a) Both (A) and (R) are true, and (R) is the correct explanation of (A)

b) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
c) (A)istrue, but (R) is false

d) (A)isfalse, but (R) is true

24. (A) : Conserving our soil resources is critical to human survival.

(R) : Soil is home to many micro-organisms and contains minerals

a) Both (A) and (R) are true, and (R) is the correct explanation of (A)

b) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
c) (A)istrue, but (R) is false

d) (A)isfalse, but (R) is true

25. In certain code, SELECTION is coded as QCJCARGML. The code of
AMERICANS will be

a) YKCPGAYLQ
b) BNFSJDBMR
c) QLYAGPCKY
d) YQKLCYPAG
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26.

27.

28.

29.

30.

A is sister of B. F is daughter of G. C is mother of B. D is father of C. E is mother
of D. Ais related to D as?

a) Grand daughter b) Daughter

c) Daughter-in-law d) Sister

Two railway tickets from city A to B and three tickets from city A to C cost 177.
Three tickets from city A to B and two tickets from city A to C cost 173. The fare
for city B from city A will be

a) 25 by 27
c) 30 d 33

Two numbers are in the ratio 2 : 5. If 16 is added to both the numbers, their ratio
becomes 1 : 2. The numbers are

a) 28,70 b) 32, 80
c) 16, 40 d) 20,50

In a certain code language, ‘743’ means ‘Mangoes are good’. ‘657 mean ‘Eat
good food’ and ‘934’ means ‘Mangoes are ripe’. Which digit means ‘Ripe’ in that

language?
a) 5 b) 4
c) 9 d 7

If 3 of the month falls on Friday, what day will be on the 4™ day after 21% of the
month?

a) Monday b) Saturday
c) Thursday d) Friday
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English Language Ability :

Directions (Q. 31-35) : In the sentence below a word is given as blank, below
the sentence five words/group of words are suggested, one of which can replace
the blank. Find the appropriate word/group of words in each case :

Shortly after September 11, 2001, the United States began —— (31)
additional financial information about persons of interest by subpoenaing records
located at the SWIFT banking consortium. SWIFT, which routes trillions of dollars
a day, faced on ethical dilemma : fight the subpoenas in order to protect member
privacy and the group’s reputation for the highest level of confidentiality, or,
comply and provide information about thousands of financial communications in
the hope that lives will be saved. SWIFT decided to —— (32) in secret,
but in late June 2006, four major U.S. newspapers disclosed SWIFT's
compliance. This sparked a heated public debate over the ethics of SWIFT’s

decision to reveal ostensibly confidential financial communications.

Analyzing the situation in hindsight, three ethical justifications existed for not
complying with the Treasury Department’s requests. First, SWIFT needed to
(33) its long-standing values of confidentiality, non-disclosure, and

institutional trust. The second ethical reason against SWIFT’s involvement came
with —— (34) government oversight as the Treasury Department failed to
construct necessary safeguards to ensure the privacy of the data. Third,
international law must be upheld and one could argue quite strongly that the

government’s use of data —— (35) some parts of international law.
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31.

32.

33.

34.

35.

existed.

a) Soliciting

b) Impetrating
c) Enforcing
d) Requesting
a) Comply

b) Obey

c) Defy

d) Contravene
a) Overturn

b) Sustain

c) Uphold

d) Abandon

a) Deficient

b) Inadequate
c) Inept

d) Competent
a) Breached
b) Break through
c) Infracted

d)

Although SWIFT executives undoubtedly considered the aforesaid reasons
for rejecting the government’s subpoena, three ethical justificaitons for complying

Observed



36.

37.

38.

39.

40.

Directions (Q. 36—40) : Fill in the blanks with an appropriate option.

Since ancient times, much of the finest art has

of wealth or power.
a) portrayed

b) displayed

c) triage

d) represented

a deliberate display

One’s religion is whatever he is most
a) Trusted
c) Assumed

in.
Interested
Presumed

India’s role on international stage was
pomp and the circumstance of war.

a) Moulded

b) Constructed
c) Atrticulated
d) Delineated

by history rather than by the

Change in latitude and altitude causes
a) Disparity

b) Variation

c) Deviation

d) Transformation

The Indian Constitution has a

a) Strange
c) Distinctive

10

in biodiversity.

unitary bias.
Unigue
Peculiar

J — 2283



41.

42.

43.

44,

45.

46.

Directions (Q. 41-45) : Choose the word/group of words which is most
nearly the same in meaning of the words printed in bold.

Reducing
a) Superintending
c) Yielding

Mitigate
a) Alleviate
c) Intensify

Interrogate
a) Renovate
c) Refined

Opulent
a) Luxurious
c) Poor

Augment
a) Decrease
c) Enlarge

Awareness on Media :

The first full-length Indian feature film

a) Alam Ara
c) Apu sansar

11

b)
d)

b)
d)

b)
d)

b)
d)

b)
d)

b)
d)

Submissive
Minimise

Provocate
Diminish

Examine
Recompense

Impoverished
Penniless

Decline
Deny

Raja Harishchandra
Bhakta Prahlad
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47.

48.

49.

50.

51.

52.

53.

Transitional broadcasting emphasises on?

a)

c)

Isolation
Liberal

Kinetoscope is

a)
b)
c)
d)

b)
d)

Collectively
Fluent

Forerunner of the motion-picture film projector

Screen
Monitor supervision
None of the above

Signals with a frequency below 2 MHz use which propagation

a)

c)

The word ‘Stringer’ is used for?

a)
c)

Father of Modern Indian advertising

a)

c)

Ground
Line-of-light

Full Time Reporter
Proof Reader

Marshall McLuhan
Edmund Mather

b)
d)

b)
d)

b)
d)

Sky
None of these

Script Writer
Part time reporter

Edmund Burke
Alyque Padamsee

The Right to information Act was passed in which year?

a)
c)

2004
2007

b)
d)

2003
2005

Which camera angle shows the subject from below, giving the impression of

being more powerful or dominant?

a)

c)

Low angle
Eye level

12

b)
d)

High angle
None of these
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4.

55.

56.

S7.

58.

59.

60.

Which classic movie’s famous sequence is Odessa steps?

a) The Bible b) The Birth of a Nation
c) Unchien Andalou d) Battleship Potemkin
Largest circulated newspaper in India

a) Dainik Bhaskar b) Daily Thanthi

c) Dinamalar d) Mid-day

The smallest unit in sound system of a language

a) Phoneme b) Word
c) Letter d) Prepositions

Second oldest Malayalam newspaper in Kerala
a) Malayala Manorama b) Mathrubhumi
c) Balarama d) Madyamam

Which section of IPC defines Defamation?
a) Section 499 b) Section 299
c) Section 144 d) Section 994

Media Convergence

a) Imbalance of information order
b) Noise and barriers

c) Imbalance in information flow
d) All of the above

What is the full form of PTI?
a) Print Telegram of India b) Press Trust of India

c) Print Trust of India d) None of these
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ANSWER SHEET — PART - A
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COMMUNICATION AND JOURNALISM

PART - B
(Descriptive Type)

Answer any eight questions. (8 x 5 =40 Marks)

Some argues that technological inventions such as mobile phones are making

people socially less interactive. Comment your views on this issue.

Is it necessary to choose a common global language for all? Do you think it is a

positive thing?

‘Currently there is a trend towards the use of alternative forms of medicine.
However, at best these methods are ineffective, and at worst they may be

dangerous’. To what extent do you agree with this statement?

In the present digital media scenario, where do the online media rules to attract

readers?

What are all the major crimes happening around us in the society and suggest to

reduce crime through your report writing?

Discuss the advantages and disadvantages of online shopping.
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10.

11.

12.

Governments and big companies should work together to reverse environmental
damage, rather than expecting individuals to take responsibility. To what extent

do you agree or disagree with this statement?

Countries with long working time are more economically success than countries

which works for less time. Do you agree with this statement?

How can Family and educational institution can help children in gender

socialisation? From where does the gender role is being assigned?

Comment your opinion on the causes of Amazon rainforest fire and do you think

human activities are a part of destroying environment?

In the last century, the first man walking on the moon said : “It is a giant leap for
mankind”. However, some people think that space travel makes little difference to

your daily lives. To what extent do you agree or disagree?

Candidates seeking votes on the basis of Caste, Creed, religion, language etc.,

Is it violation of the Indian Constitution or not? Offer your comment.
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